[=sDKC BEaaY

ISTRUZIONI DI MONTAGGIO

ASSEMBLY INSTRUCTIONS

MHCTPYKUNA MO MOHTAXY

MONTAGEANLEITUNG

INSTRUCTIONS POUR LE MONTAGE

INSTRUCCIONES DE MONTAIJE

GRONONORORC)

IT Gli enti di ispezione UL riconoscono I'armadio/batteria classificato UL/NEMA solo se completi di porta, retro e laterali.
EN The UL inspection authorities recognize the cabinet/battery classified UL/NEMA only if complete with door, rear and
sides.

RU WHcnekumoHHble opraHbl UL npusHatoT wkadbl U cbopHble NMHMU WwKadoB knaccmbuunpoBaHHbiMu no UL/NEMA
TONbKO B TOM C/ly4ae, ec/iv OHU CHabXeHbl ABEPbMU, 3aAHUMWN N GOKOBBIMU MaHENMU.

DE Die UL Kontrollbehérden erkennen die UL/NEMA Klassifizierung des Schaltschrank nur an, wenn dieser allseitig
geschlossen ist (Tir, Rickwand und Seitenwdnde montiert).

FR Les organismes de contrdle UL reconnaissent I'armoire/batterie classé UL/NEMA uniquement si complet avec port,
panneau arriére et cotés.

ES Los organismos de control UL reconocen el armario/bateria clasificado UL/NEMA sélo si completo con puerta,
posterior y laterales.

N°7 .
2015 c E Rif. CEl EN 62208




Schrank mit einer Tiir

Armoire a une porte

Armario de una puerta

.................................................................

DE

FR
ES

Armadio a una porta

One-door control box

OpHocTBOpUaThii Wkad

. —\
K w\//,

/ /

o~
IS

IT
EN
RU

x4

X6

5

x8

x4

x4

$

x16
X8

x4

M6x10
M6x12

1
S

M12x25

©=

C




IT Armadio a due porte DE Schrank mit zwei Tiiren
EN Two-door control box FR Armoire a deux porte
RU ABycTBOpYaTbii Wkad ES Armario de dos puertas

T

N
A ©OF Msxi0 x18 D S x10 ‘ G ‘ &y ‘ X6
B {F Mexi2 x10 E i x8
C| (©O)F Mi12x25 x4 F =~ x8




IT Montaggio zoccolo e fissaggio struttura DE Montage und Befestigung des Sockels
EN Base assembly and structure attachment FR Montage socle et fixage structure
RU C6opka Lokona ES Montaje z6calo y fijacion estructura

iF g

11—

1A o

e
A = M12x20 x4 c O= wmsxis X8
B MR x4 D & M8 x8
IT Installazione del pannello di cablaggio DE Montage der Boden-/Kabeleinfiihrungs-Paneele
EN Installation of wiring panel FR Installation du panneau de cablage
RU YcTaHOBKa MOHTa)>HOW nnaTbl ES Instalacion del panel de cablaje

- 2
s

3.
g
§(a
§
b
R

g,




x2

x2

x2

x4

x4

x2

M8

©
@]

M8x16

A
B




IT Montaggio retro e laterale DE Montage der Riick- und Seitenwande
EN Assemly of rear and side panels FR Montage rétro et latéral
RU YcTaHOBKa 3aAHel n 60KOBbIX NaHenemn ES Montaje atras y lateral
> ,/@’/ \
© ,/3'/
(<] &
=
A PHFE wmexi2 X8
B % x8
c O©F msxto X8
IT Guarnizione per fondo passacavi DE Dichtung fuer kabeldurchgangs-fund
EN Grommet for cable passing hole FR Garniture pour found passe-cables
RU YcTaHOBKA YIJIOTHUTENA AJis BBoaa kabensa ES Guarnicién para fondo pasacables




IT Reversibilita porte DE Wechsel des Tiiranschlag
EN Doors reversibility FR Réversibilité des portes
RU MepeBewnBaHne aBepu ES Reversibilidad puertas

s s s QO s s o Q

A @g M6x10 x8 ‘ D ‘ x4
B ﬁm x4
C Ef x4

e e e O e e e P




IT Rotazione mostrina e aste di chiusura DE | Umbau der Schliessvorrichtung bei Anschlagwechsel
EN Rotation of latch-plate and locking rods FR Rotation plaque et tiges de fermeture
RU MepeBoOpoT 3aMKa ES Rotacion insignia y aspas de cierre placa




IT Kit unione armadi DE Kit Schrankverbindung
EN Control boxes junction kit FR Kit union armoires
RU O6beanHeHue wkacdoB ES Kit unién armarios
N
. ;@ e
S
4 1o
5 ,
L]
N
o ,
% L]
q B
)
¢ |8
N
@
; ¢
T
Q
A (©O)= Ms6x10 x16
B !/Tﬁ X8
C — 8x3 X6m
IT Montaggio piastra intermedia DE Montage der Zwischenplatte
EN Installation of intermediate plate FR Montage plaque intermédiaire
RU MpomexxyTouHasa MOHTaXKHasA nnara ES Montaje placa intermedia
A & M X6 ‘ D ‘ M6 x2
B O = wméxi2 x6
C (D ~ M6x12 x2




IT | Montaggio squadretta di sollevamento DE | Montage des Transportésen
EN | Installation of lifting bracket FR | Montage équerre de soulévement
RU | YcTtaHoBKa yrnos ansa nogbéma ES | Montaje escuadra de elevacién
Al ©= mi2x2s X2
D (© o125 x2
IT | Montaggio divisorio verticale DE | Montage des Vertikaltrennteils
EN | Installation of vertical divider FR | Montage cloison verticale
RU | YcTaHOBKa BepTuKanbHOro pasgenurens ES | Montaje divisor vertical

i
A /@,/3 M8
Bl © @52
C ﬁ = M8x16 x8




IT | Connessione della messa a terra DE | Montage des Hebewinkels
EN | Earth connention FR | Connexion de la mise a terre
RU | 3azemneHue ES | Conexidn de la puesta a tierra

A (O= wsxi6 x1 D M8 x1 G M6 x1
@

B © @82 x1 3 6.2 x1 H

©

C O @ 8.2 x1 F O @6.2




IT Montaggio P.C. arretrato DE Montage des riickstdandigen PC
EN Installation of P.C. in back position FR Montage ordinateur arriéré
RU Fny6okasi ycTaHOBKa MOHTaXHOW nnarhbl ES Montaje P.C. atrasado
™~

&
A © M8 x2
B % M8 X2
c O = wmsxis x4
IT | P.C. con inserimento laterale DE | PC mit seitlicher Schaltung
EN | P.C. with side installation FR | Ordinateur avec introduction latérale
RU | MoHTa)xHaA ruiata ¢ 60KOBOM YCTaHOBKOW ES | P.C. con introduccion lateral

A-B-C ¢
PARTS ALREADY ASSEMBLED
ON THE PANEL

A © H M6 X2
B @ | g4 X2
c &9  wmex0 X2
D (S X4
i
E &5 M8 X
F =) gas X4
G © M8 X4

* ON THE BOTTOM, THESE SPARE
PARTS ALREADY PROVIDED WITH
SINGLE PC. (REASSEMBLE THEM).

Al® H M6 X12
= @ || ? 8.4 X2
C &= M6x20 X12
D \ X2




IT | Montaggio cerniera a 180° DE | Montage des Scharniers zu 180°.
EN | Installation of 180 deg hinge. FR | Montage charniére a 180°
RU | YcTraHOBKa neTtenb C yriom oTKpbiTUA ABepu 180° ES | Montaje cremallera a 180°

% { | | |
A N x8 D | Qﬂ | x4 |
B (O 064 x12
cC ©= wmexio x12
IT | Montaggio porta interna DE Montage der inneren Tiir
EN | Installation of internal door FR | Montage porte interne
RU | YcTraHOBKa BHYyTpeHHEW ABepu ES | Montaje puerta interna
0
[
/
0 |
o i )
8l e
0 J N
b R
1G|7:
E °
{ [I .
o ] o
E N
©
§ N
A 2 x2 D (©= wMexi0 X3 G ™ X3
B ! x2 E OF Masxi3 X8 H Ul X3
C "y me x10 F — x3 I (OF Mex12 x10




IT Montaggio telaio RACK DE Montage des RACK-Rahmens
EN Installation of RACK frame FR Montage chassis RACK
RU YcTraHOBKa NOBOPOTHOM 19" pambl ES Montaje bastidor RACK

TNeNeNeReReNeNsReNs e e eV T

Edf

@

\

A My M8 x8 E — 1 M10x40 x2 1| = x2
B ©O= Msx20 X8 F O= wsxie X8 L © x1
cC = wexs X2 G O X2 M © X2
D OF masx13 x4 H < x2




IT Montaggio dei profili verticali (PDV) DE Montage der senkrechten profilen (PDV)
EN Installation of vertical stringers (PDV) FR Montage des profils verticaux (PDV)
RU YcTaHOBKa BepuTak/ibHbiX peek (PDV) ES Montaje de los perfiles verticales (PDV)
: S
b ] :
s I s Q
Q « Qg N
o Iy o0 Q
LR @ 3
3 L.
@y 88 @ :
® % % . /
© i & <&
Q| &L o ¢
G« Q|d
e Q v | @
Q » Q|d
3 Q [ 1 ]
L+ Q|8
e Y Q 8 | 0 [
v Q|
A M8x16 x16 W
B M8 x16
IT Montaggio traverse laterali interne DE | Montage der seitlichen inneren kreuzstangen (PLE)
EN Installation of side internal crosspieces (PLE) FR Montage traverses laterales internes (PLE)
RU YcTraHOBKa BEPUTaKJ/IbHbIX peek ES Montaje traversaiios laterales internos (PLE)
Al PF mext2 x8
B OF wexi2 x16
C Qﬁ x8




IT Montaggio traverse porta trasformatore IT Montaggio profilo ancoraggio cavi
EN | Installation of crosspieces for transformer support EN Installation of stringer for cables attachment
RU YCTaHOBKA YCUJIEHHbIX peek RU YcTraHOBKa peiku ana ¢pukcauum kabensa
DE | Monyage kreuzstangen der tuer des transformators DE Montage profil Verankerungskabel
FR Montage traverses porte transformateur FR Montage profil ancrage cables
ES Montaje traversaios puerta transformador ES Montaje perfil anclaje cables
T
Q
L)
Q
o
Q
L)
Q
A A M8 x4
B B = M8x16 x4
IT | Blocco porta meccanico DE | Mechanische tuerblockierung
EN | Mechanical door lock FR | Blocage mecanique de la porte
RU | YcTaHoBKa ycTpoiicTBa ana 6JI0KMpoOBKU ABEPU ES | Bloque puerta mecanico
g N0 N
ol U N
S 9
o © &
Q 2
el | © &
o WY A
° E % ]\ &l
o N
; >
) o @
@\‘Q\ > N
) &
4.8 ¢
NS ERe.
2 Y §
2
o S5 Y
N N
2 ® G
I
] % Q
Q 4
2 S
Qg | (g
— M4.8x13 x4
OF
B (O= Msx20 X2
C © M8 x2




IT Blocco porta antivento DE Tuerblockierung gegen den wind
EN Wind-proof door lock FR Blocage de la porte contre le vent
RU YcTaHOBKa OrpaHUYMUTENA yrjiia OTKPbITUA ABEPU ES Bloque puerta antiviento

Ny

N

R

Q

Q N

9

N N

9

Q o

A\

Lﬁ 0

I\

o | 2

o L,

Q
A © M6 x2
B O= mMsxi0 x2
¢ OF ma8x13 x2
IT | Kit rinforzo unione forma piatta e forma a “"L"” DE | Kit verstaerkerung der verbindung
EN | Joint reinforcement kit, flat shape and L-shape FR | Kit renfort union, forme plate et forme a « L »
RU | YcTaHoBKa coegeHuTenei wkados ES | Kit refuerzo unién, forma plana y forma a ele

elT7o T

Q

VLN

¥
(,3
,
\

N

N3

LefFefFe 270 TeFefTolFoTos
v
«
=

M8 x16

M8x16 x16

e




IT Modularita interna - Distribuzione DE Innere modulation - verteilung
EN Internal modularity - distribution FR Modularité interne - distribution
RU YcTraHOBKa BHYTPEHHEro CEeKLiMOHMpPOBaHUA ES Modularidad interna - distribucion

A (D= Ms5x30 x4
< M5 x4
% x4
3 1
L1
o[] lr‘?ﬁ 2 r‘?1 Mo
T |_|_|
T ) il (@
o[Jodo[doe[doedo[de[doedoede[doedoedoe[doe[dodo[doe[doedoe[de[doedo[de[doedo[de[doe[Jo
U | ©

S

A (D= mMsx30 x2 p| — X2
B & M5 x2 E M6 x2
C % x2 F E x2




IT Indicazioni per il sollevamento DE Richtlinien fiir das Heben

EN Guidelines for lifting FR Lignes directrices pour le levage

RU PekoMeHpaLuMM No TPaHCMNOPTUPOBKE ES Directrices para levantar

1000 Kg

1200 Kg
a DIN 580 per carico massimo

7

DIN 580 for maximum weight

o
o

/Q?/ o

,/

DIN 580 fiir belastung

(R

DIN 580 pour la charge maximale
DIN 580 para carga maxima

DIN 580 PbiM-60/1T BbICOKONPOYHbINA

Carico massimo 240 Kg
Maximum weight 240 Kg
Maximales belastung 240 kg
Charge maximale 240 kg

Carga maxima 240 kg

MakcumanbHaa Harpyska 240 kr

Carichi uniformemente distribuiti
Uniformly distributed loads
GleichmadBig verteilte Lasten

Des charges uniformément réparties
Cargas uniformemente distribuidas
PaBHOMepHO pacnpepenéHHas

F1(Kg) | F2(Kg) | F3 (Kg)

Tetto - Roof
Dach - Toit 60
Techo - Kpbiwa

4 i - Angolo funi >45°
& - Cable angle >45°
. O R R
- Seilzugwinkel >45°
S ]
H \mr/ ¢ . _ // Angles cordes >45°
o P
e /{?/Qg Cable angulo >45 °
/?/ A
2R /i:»:@ Yron kpenneHusa >45 °
/ e
S
o //4/
~,

Pannello laterale
Side panel 90 <=L 600 mm
Panneau latéral
Panel Lateral
BokoBas naHesb 75 > L600 mm

Pannello retro
Back panel 90
Riickseite
Panneau arriére
Panel trasero
3a4HAA NaHenb 75

<=L1800 mm

> L 600 mm

Porta cieca
Blind door
Blindtur
Porte aveugle
Puerta ciega
CnnowHas aBepb

75

Via Liberta, 207 - 28043 Bellinzago Novarese - NOVARA - Italia
Tel. +39-0321-989898 / Fax. +39-0321-985125

www.dkceurope.eu - info@dkceurope.eu



DKC Europe s.r.l.

Sede Commerciale e Amministrativa
Via Liberta 207 - 28043 Bellinzago Novarese (No)
Tel. +39 0321 989898

info@dkceurope.eu www.dkceurope.eu

3A0 “AOuanekTpuueckme KabenbHbie Cucrembi™

LleHTpanbHbIN ocduc
Poccusa, 125167, MockBa, 4-g yn. 8 MapTa, 4.6a, ctp. 1
Ten.: +7 (495) 916-52-62, dakc: +7 (495) 916-52-08

PernoHanbHble NnpeacTtaBUTeNbCTBA:

CaHkr-Metepbypr
Poccus, 197198 r. C-NMeTepbypr, yn. bnoxuHa, 4.9, odpuc 204B
Ten/dakc: (812) 611-10-67
E-mail: spb@dkc.ru

ExaTtepuH6ypr
Poccus, 620151, yn. Kapna JinbkHexTa, 22, od. 402
Ten/dakc: (343) 359-89-55, 356-56-09
E-mail: ural@dkc.ru

HoBocnbupck
Poccus, r. HoBocnbupck, yn. bonbwas,171/1
MouTtoBbIn aapec:630041 r. HoBocmbupck, a/s 1
Ten/dakc: (383) 300-10-00, 300-07-70
E-mail: novosibirsk@dkc.ru

Xa6apoBck
Poccusa, 680033, r. Xabaposck, yn. MNocTbiwesa, 22A, od. 812
Ten/dakc: (4212) 45-27-07
E-mail: khabarovsk@dkc.ru

Camapa
Poccus, 443096 r. Camapa, yn. OcmneHko, 4.11
Ten/dakc: (846) 273-36-13, 273-36-14
E-mail: samara@dkc.ru

KpacHopap
Poccust, 350007, r. KpacHoaap, yn. 3axapoBa, 4. 11, od. 7/7
Ten/dakc: (861) 267-75-67, 267-79-78
E-mail: krasnodar@dkc.ru

MpeacraButenbcTBo B pecny6nunke KasaxcraH

050040, Pecnybnuka KasaxcTaH, T. AJ‘IMaTbI,Syﬂ. MaHaca/[xaHaocoBa,
BusHec-ueHTp “AnmaTtbl” A4.34a/8a, oduc 40

Ten/dakc: +7(727) 244-51-47
E-mail: kz@dkc.ru

info@dkc.ru www.dkc.ru

3A0 “Ounanektpunueckue KabenbHblie CucremMmbl YKpauHbl”

YkpauHa, 03067, r.Kues
yn. MawwuHocTpouTtensHas, 50-k Ten./dakc: +380(44) 496-18-44, 496-18-45

info@dkc.ua www.dkc.kiev.ua



